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Number Search Y3 3 x table

Find the sums in the number search. Circle each one.
Complete the sums below when you have found them in the number search.
All the sums are either across or down.

1 x| 3|=14/2|x|3|={1/0]0
714|x| b =24 3/=11|2
x| 8|7|2|x|b|2|x|7|=|2|7
3/17/8/1|x|3|=/3|8|x|28
=10(711/9]16|/B6|(x|0|=]|x
2/ x|2|5|x|2/x|0[5|3|/7|3
112/ x/2/3/B5/3|x|1|x|0]-=
0/ 2/3/0/=|1/=|H|=|3|7|2
=Ix|=11]2|0|1|1 x|=|2|4
5/ =16/0|7|=|8/7/0|9|=]x
712/5]/1/0/ x| 3|={3/0|7)2
Bbix|3|=|1|H|2/x|2|x|2]=

1x3= 3 2Xx3-=

3x3-= 4x3-=

Bx3= 6 x3=

7x3-= 8x 3=

9x 3= 10x 3=
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Number Search Y3 3 x table

Solution
1 x| 3|=|4/2|x|3|={1/0]0
714/ x|b|=124|x|3|=]1,2
x| 8|7|2|x|b|2|x|7|=|2|7
3/17/8/1|x|3|=/3|8|x|28
=10|711/9|1/6|H/x|0|=|x
21x|2|5|x|2|x|0[D5|3|/7]3
112/ x|2]3/B5/3|x|1|x|0]-=
0/ 2/3/0/=|1/=|H|=|3|7|2
=|x|=11]2|0|1|1 | x|=|2|4
51 =16[0|7|=|8/7]0|9|=]x
712/5|1/0/x|3|=[3/0|7)2
5lx|3|=|1|Hh|2|x|2|x|2]|-=
1x3= 3 2x3=6
3x3=09 4x3=12
hbx3=15 6x3=18
7x3=21 8x3= 24

O9x3= 27 10x 3= 30




